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PAHsENL N
HESEMSEY JUES
Sl =T e| o SEXBOLAASH (Et9i: #3)
SN - FE-S(S) - NRAY - B Ol &+ Shitr BlRE2
SEIL 131, 229, 760 139, 007, 200 AT, 777,440
SEYEEA DS 131,210, 940 139, 003, 000 AT,792, 060
sXze & sEFMNLBALSL 117, 940 123, 000 A5, 060
sXizcl & FMAY S4 25,900 39, 000 213,100
201 LBt2AY| 500 14, 500 214,000
01 At 2teltl 500 14, 500 214,000
OgEt=EH| = 500
202 (dHl 23, 000 22,100 900
01 =UWobI 23, 000 22,100 900
OsXZel gFF& = 23, 000
203 AR =&Y| 2,400 2,400 0
03 AEFXARFEH| 2,400 2,400 0
O=sIIBrELAHFA = 2,400
skzel?ds2d 92, 040 84, 000 8, 040
308 AXIHHSOIA 92, 040 84, 000 8, 040
01 XXEHBAEES 92, 040 84, 000 8, 040
OsXzelfds 22 1, 300, 000 #1770 & *40% = 92, 040
(Il 92, 040]
SYI|BAIE & 39, 679, 000 37, 798, 500 1, 880, 500
Sot2elYZMIHE S 4,938, 000 6, 380, 000 21,442,000
402 I XHE201H 4,938, 000 6, 380, 000 A 1,442,000
01 QUAXEEX 4,938, 000 6, 380, 000 A1, 442,000
O=ot&el g ERINE2(3X+) = 4,938, 000
[ 4,938, 000]
A2 ERHONE = 1,820, 000 2,258,000 A 438, 000
403 UXISHHSAH201H 1, 820, 000 2, 258,000 A 438,000
01 AXSHHX2EE 1,820, 000 2, 258,000 A 438,000
OXg2el g2 I E=(15X17) = 1, 820, 000
(2 1, 614, 000]
(& 206, 000]
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AN ZEMBEy Jues
Chol:=ol)| A& S (ol M
SN - FE-S(S) - NRAY - B Ol &+ Shitr BlRE2

NE=EZHYRETALS 3, 122,000 3,517,000 A 395,000
202 (4Hl 5,000 6, 000 21,000
01 =UWobI 5,000 6, 000 A 1,000

ONE=SZNLAS Z=X 0 I = 5,000

[ 5, 000]
402 QI2H X201 3,117,000 3,511,000 A 394, 000
01 QIZGEE=X 3,117,000 3,511,000 A 394, 000

OX B8N (4X12) = 3,117,000

(2 3,117,000]
NES=S200e 1, 650, 000 3,670,000 A 2,020, 000
403 XXM S K201 1,650, 000 3,670, 000 22,020,000
01 XTXHHA=2EX 1, 650, 000 3,670,000 A 2,020, 000

OXNES2IML(10XI7) = 1, 650, 000

[ 1, 650, 000]
A2 E2ESONY 2,216,000 1,827,000 389, 000
403 XXM S 201 A 2,216,000 1,827,000 389, 000
01 XXSHHMA=2EX 2,216,000 1,827,000 389, 000

OAREE L (5X2) = 2,216,000

(& 1, 705, 000]

== 511, 000]
SEMEEIYE 10, 508, 000 10, 490, 000 18, 000
202 04d| 12, 000 12,000 0
01 3UHObI 12, 000 12, 000 0

OMEZIHT AL FE NI = 12,000

(& 12, 000]
403 XXM S K201 & 10, 496, 000 10, 478, 000 18, 000
01 XXHHMA=EX 10, 496, 000 10, 478, 000 18, 000

O=sEMEE ML (68X 7) = 10, 496, 000

[ 9, 330, 000]

(& 1,166, 000]
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B2 =i )|BAlAL StE (ol M)
SN - FE-S(S) - NRAY - B Ol &+ Shitr BlRE2
SHEHHI S0 e 2,379,000 2,074,000 305, 000
403 X SHMSK=0|H 2,379,000 2,074,000 305, 000
01 XXISHXMAELX 2,379,000 2,074,000 305, 000
Ot U E =ML (16AI2) = 2,379,000
[ 2, 115, 000]
= 264, 000]
ARAESYI|BAIE XA 13, 046, 000 0 13, 046, 000
403 XM S K =01 13, 046, 000 0 13, 046, 000
01 XTXHHA=2EX 13, 046, 000 0 13, 046, 000
O2xnl sYIIBAIE X2 26,092, 000, 000& *50% = 13, 046, 000
SEXGH 91, 414, 000 101, 081, 500 A9, 667,500
BH==JH& BIZ2HE ZALY 21,414,000 24, 000, 000 A 2,586, 000
402 QI2HXHE01H 21,414, 000 24, 000, 000 A 2,586, 000
01 QIZXESE=X 21,414,000 24, 000, 000 22,586, 000
Ot ==& AL (12X 72) = 21,414,000
(2 21,414, 000]
Hi=JH& A2 X2 5, 720, 000 5, 325, 000 395, 000
202 04d| 13, 000 20, 000 A7,000
01 =3LHObI 13, 000 20, 000 27,000
Ot ==& AHS =& 04 8l = 13, 000
s 13, 000]
403 MXISHMSKE20IH 5, 707,000 5, 305, 000 402, 000
01 XXSHHA=2EX 5, 707,000 5, 305, 000 402, 000
Ot & A Z K& AL = 5,707,000
(& 5,707, 000]
2B EHI K& 3, 405, 000 4, 094, 000 A 689, 000
403 X SHMS K =01 & 3, 405, 000 4, 094, 000 A 689,000
01 RXHHA=EX 3, 405, 000 4,094, 000 A 689, 000
Ol etEdl = 3, 405, 000
s 3,027, 000]
(& 378, 000]
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SZIHE Dt
HHEEMSE A JuaE
Sl sEX SRS (e & 3)
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2

= DNESEI DAR] 10, 512, 000 10, 051, 000 461, 000
403 XX SHHSA=01H 10, 512, 000 10, 051, 000 461, 000
01 XXISHXMAELX 10, 512, 000 10, 051, 000 461, 000

Oou=&ZX&el(10Xl+) 11, 680, 000, 000& *90% = 10, 512, 000

[ 9, 344, 000]

= 1, 168, 000]
JNHSZEZES I 20, 728, 000 28, 430, 000 AT,702, 000
403 XX SHHSA=01H 20, 728, 000 28, 430, 000 27,702,000
01 XXSHXMIAELX 20, 728, 000 28, 430, 000 AT,702, 000

O H &t & 2 2 3L & ( 230km) = 20, 728, 000

(2 18, 425, 000]

= 2,303, 000]
SEZFI|IHES N 16, 826, 000 16, 108, 000 718, 000
403 XX SHHSA=01H 16, 826, 000 16, 108, 000 718, 000
01 XTXHHA=2EX 16, 826, 000 16, 108, 000 718, 000

OsEYFI|8HE=(3001H) = 16, 826, 000

(2 14,909, 000]

= 1,917, 000]
SENSSEMLEX 10, 231, 000 8, 166, 500 2, 064, 500
202 04l 10, 000 5, 000 5, 000
01 =LHHYI 10, 000 5, 000 5, 000

O =sZE0ISSEMNLAMEFEAHYI = 10, 000

(2 10, 000]
403 XX SHHSA=01H 10, 221, 000 8, 161, 500 2,059, 500
01 XXISHXMAELEX 10, 221, 000 8, 161,500 2, 059, 500

O=E02SEML (13X 7) = 10, 221, 000

[ 9, 508, 000]

== 713, 000]
HdAOt=S=LX& 1,538, 000 4, 364, 000 A2,826, 000
403 AtXI XS K =01 ™ 1, 538, 000 4, 364, 000 A2,826, 000
01 XXISHXMAEL X 1, 538, 000 4,364, 000 A2,826, 000

OM2ASEH (11X F) = 1,538, 000
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